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QUESTION 1

Which two capabilities must an application have in order to be made highly available using Veritas Cluster Server?
(Select two.)

A. The ability to monitor each instance of the application independently
B. The ability to be installed on shared storage

C. The ability to determine if the application is running

D. The ability to notify the administrator of the state

E. The ability to disconnect users from the application

Correct Answer: AC

QUESTION 2
Veritas Cluster Server (VCS) includes a disk-based I/O fencing mechanism.

Thinking specifically about data disks, which two cluster configuration requirements must be met to implement this?
(Select two.)

A. The application using the disks must be managed by a VCS Application resource type.
B. The disks must be in a Veritas Volume Manager disk group.

C. The service group containing the disks must include an IP resource.

D. The disks must be managed by a VCS DiskGroup resource type.

E. The disks must contain at least one *.dbf file.

Correct Answer: BD

QUESTION 3

Consider the following configuration:
group websg (

SystemList ={syml=1,sym2=2}
AutoStartList = { sym1 }

Frozen=1

)

While websg is online, all of the systems in the cluster are rebooted simultaneously. All of the systems
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finish booting and successfully join the cluster.
What will happen to the websg service group?
A. It will unfreeze on reboot and start on sym1.
B. It will remain offline on all systems.

C. It will resume its state before the reboot.

D. It will start on sym1 in a frozen state.

Correct Answer: B

QUESTION 4

An application is experiencing failures. The application administrator wants Veritas Cluster Server to take all resources
offline after failure. The application should remain offline.

Which attribute can accomplish this?
A. ManageFaults

B. FailOverPolicy

C. AutoFailover

D. Critical

Correct Answer: C

QUESTION 5

Which three products support virtualization and can be run on virtual machines? (Select three.)
A. Endpoint Discover

B. Network Discover

C. Network Prevent (Web)

D. Network Monitor

E. Network Prevent (Email)

Correct Answer: BCE
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